n time in New York there live at least two people with the same number of hairs.

In a group of 23 people,
at least two have the same birthday
with a probability greater than /.

nﬂ‘-r\rl\‘ ~t 4-1»\ a Eyitiira

“I want to be a lawyer.
Climatologist a0 - DTS

(D)

..‘9 .

~ % tlst1c1an

Be (//
Operations Research &131)&
wo $118,130/yr

“] want to be a lawyer.
road1~t the Fiifiire

“limatologist
$127,100/yr

Cost Estimator
%+ $94,470/yr

“l.
Inventory Control Specialist

@

Be (e a/Z?

Opcrauons Research (_{n lyst
$118,130/yr

Test nroducts
before thev

hit the market

2205 0p558® i

0’\
)
N
S

7
o

@

Purchasing Agent

57

.

— gfl“ |

BUW\\R ' ‘ >7 (y -

N e AEEEAREE T i

« IR 2 AL

)
L] X
i “--n“_/ g'b\‘ -

OQQQOQJ""’ Q' \d
T T YV QQQ»_
*"Q'ﬂﬁ/v _‘



